Addendum to Lecture 7, 9.07

Emery Brown

10.31.16

1 Confidence Interval

A range of value where a parameter is likely to lie with probability 1 — « for
dt(0,1) usually 0 < a << 1.

7 =t = "E pick ¢ o ¢ (0,1)

For example o = 0.05 , o = 0.01

l—-a= PT’(Z% <Z<Zi_a)
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N. B. By symmetry Zg = —Z;_2
or

Zi—g =—Zg.

For example if x = 0.05

Zi—g = Zo.975 = 1.96

Za = Zy.o25 = —1.96

The probability 1 — « is interpreted in the long-run frequency sense. We will
explain this in Lecture 8.

o2 is not known.
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